machines, work out the:

1) Output, when the inputis 5 10

Input X 2 |r—Output

1

2) Output, when the inputis3 8

Input +5 p—sOutput

B

3) Output, when the inputis 0.5 -3.5

Input p—————pOutput

4

4) Output, when the inputis -4. -1

Input p—————pOutput

1

5) Input, when the outputis 21. 7

Input X 3 |r—Output

rL

6) Input, when the outputis 2. 22

Input —20 p——sOutput

7) Input, when the outputis -12. -4

Input x3 »Output

B

8) Input, when the outputis 1.5. -5

Input +6.5 |jr——tOutput
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UNCTION MACAINE

Task 1 — For each of the following function

Task 2 - For each of the following function

machines, work out the:

9) Output, when the input is 1.

Input——4 +7

T

2

— Output

10) Output, when the input is 8.

Input—— +10 X9

i

162

11) Output, when the input is 50.

Input—— =~ 5 X7

y

[ Output

70

— Output

12) Output, when the input is -2.

Input—— +24 —14

-12

[ Output

13) Input, when the output is 6.

0.5

Input——m= X 2 +5

|_L|

-» Output

14) Input, when the output is 40.

100

Input——m=| X 4 + 10

[ Output

15) Input, when the output is 2.5

Input— X 8 +0.5

0.25

® Output

16) Input, when the output is -4.

Input——m-—>y + 2 —-20

32

[ Output
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Task 3 — For each of the following, work out the Task 5 - For each of the following function
missing value. machines, the output is y. Write a fully simplified
algebraic expression for the input.

17)
20 14 25)2y — 1
Input——4 X 7 4+ 10 #» Output
Input——= +1 —E—OOutput
18)
75 18 26)> + 1
Input——4 - 25 ‘OI X 6 — Output
Input=———-mH -1 —OE—OOutput
19)
-1 4 27y — 17
Input=——m—b +17 + 4 |———output
Input +0 +17 ——Output
20)
12 8 28)22 =2
Input—— = 0.5 4 =3 % Output L
Input—— X 4 4 +2 % Output

Task 4 - For each of the following function
machines, the input is x. Write a fully simplified
algebraic expression for the output.

Challenge
21) 11x -3
29) For the following function machine, the
Input——={ X 11 —ol —3 p——s0utput input is the same as the output. Work out
the input. 10
22) X +9 Input=—m= X 2 —10 [— Output
4
Input=————»9 +4 ‘UI +9 —» Output
30) Two function machines are pictured below.
The same number, x, is input into both
23)6(x +3) = 6x + 18 machines. The output of both mac'hlnes is
the same. Work out the value of the input, x.
Input=——-4 +3 ‘OI X 6 — Output x =20
Input——=§ X 5 -+ 10 p———0Output
24)—x +8

Input—m=>x (-1 ‘ul +8 — Output
Input=—-— +4.0 ~6 % Output
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